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Instructions:
» This paper consist of 2 PARTS (PART A and PART B)_in pages 1-2
e Answer all the questions in PART A (PART A cansists of 3 questions).
¢ Answer gonly one guestion from PART B {PART B consists of 2 questions).
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PART A / A @xodes
Answer all the questions (1-3). (Total Marks 30)
Bog® ydmded (1-3)8En0; avwsim. (80 cxa 30)

1. What are the facts that should be considered when designing a computer system for ‘older

users’? Explain. (10 Marks)
'D880 o8B E®»E sew: vBovemn sdDBu BESrwme BABe88 mEAEED o ¥
WS E eDoDoc? 88 ot (o 10)

2. Describe another ‘LTM model’ other than procedural knowledge, with an example. {Draw

diagrams as appropriate) (10 Marks)
888231 un® (procedural knowledge) ©vic @0z s! ‘LTM model emas ¢ owdemw wdw
Eedmd morts. (e w88 Growdwsy glsty) (cneem 10)

3. Why do modern computers have high memory capacity and fast processors to facilitate
human-computer interaction? Discuss. (10 Marks)
58 vlomndE Hb-ulowmm §uInlHwimBaoad vuEm® o ud® wewr gug Dom
o8B e DO wmemws? (processors) Aedsfes? ;87 wmd mdzts. (Cp e 10)
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PART B / B ezwde

Answer gnly gne question_of the two questions given below (Total Marks 30)
o eemsy o ydnemd sdwms BEQS wuwsim. (8¢ cne 30)
4 i) Why should ‘controls’ and ‘displays’ be organized and positioned in an interface?

Describe. {10 Marks)

and Guemnm e ‘vied’ wr Wew', emd B30 ew domon B8R 8¢ me gedS
187 Bedms wmonT. (cwaew 10)
li} Explain the ‘Abowd and Beal’ modei of interaction in detail. (Marks 20)

ginbBcimdied ‘Sabd vy 3@ grmafe eBdndd@mnd v ndxim.

(cme 20)

5 i) ‘Time taken to respond to a stimuius depends on the reaction time and the movement
time’. Which stimulus type is more suitable, if the computer system wants to provide
important information to the user? Explain. {10 Marks)
‘cferldmemd B0 BR vewr EndD ICE Vi MICH Y BED WS
6o 0 . vlnenn vdlBe 85T BIREDWT g O1ees emonTE B0 gbws
Dfest md, & eew ndnm cfesftm DSowxsl il geee? v10@8 mozts. (Cme 10)

ii) Discuss the interaction between the user and the system using the Norman model, if the

user is provided with the following dialog box. {20 Marks)
sB8emwed vun culedn wedig ezl (dialog box) cab 2 udm®, vdadie sw s88em
gnd grinthlvmmBbe emi®wt gamaBn wibewst imbds mosts. (cme 20)
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Disk Cleanup

Are you sure you want to permanently
delete these files?

Delete Files Cancel
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